THIEE HERKEHRE)FRT fAsht

S 3FE( 19 )&, 2F( 117 )B K 136 )& 12&HAFRAKEHIB

= 1
e HiRE i — -
[ERES 1 —
2 x y LB BEEE-RE 1 —
[F37] R — 3 X 2 — 1
| FIRE 3 —— 7 i 1 X 2 —
X 4 — | MZUGE 3 — 0 4
.; ERE 4 — o Q K 3 —— 0
FHBR 5 — . |8— ey 4 —t .
EAEH 5 — = yp—
X 6 — _ Bl 5 — I'g_ 2(4)
i 6 EX 6 — 0(4) HEEE 5 —— 2(5)
R 7 — 1 ] xR [— ) .
X 7] — I4] 7 Jih’f: 0 —
<8 S O e T _ 4
= fll 8 — X 7
3} 9 —— 4' A WEER 8 =l .
X 10 = 0 e—
4 X 10 | I —
VZEAM 11 ey 0 0 X 10 .
EYC] 1 — 8 am X 10 —
X 12 [ —
e 4 EEx 12 1 _— K KF 1 g
ZERE  13=— 1 A RRER 12 | - .
BHAFE=Z 13 ) 3 . 4 BH(E) 12
X 14 EIFEMN 13— 0
5 B # 14 4 1(5) ik 1] 13 "8_
Y] 15 1 1 E% 14 [1(3) ]
1 X 15 3 0 ZmH 14 |7
I3 7T pe— o X 15 2 2
=4a e . x 15 0
> 16 =l
REBES 16—
J\HBF | —
KFI-EE 2 1 HEEREE  [—
1 X 2 REEE | —
BREE 33— 0 - X 2 |
EAMEDZ 3 m— _ Q x 2 —
X 4 . 4 BRE 83— 4 . 9
0 a4 —A0 g BE(R) 8 — 0
AKBAHBREF 5 m— 2 2 mEM@E 4 0 0
LN 5 — 0 0 EJLTi] 4 —— 13
X 6 _ 9 i) 5 5 N 1(4)
0 BR 6 e 10 | = 5 15)
X 7 — 12323 6
X 8 X 7
e B BE e RERT | A
E 0 m— 1(5 R 8 —l ” |
i 0 — IQ- D . é- HEE o —
10 XL 9 —— F .
3 X 10 BRIHEAL 9 ——
B R p— 1 0 x 10
BREE 11 11 o (2) X 10 —— 1
x 12 B_ HFRE 1] —— .
'ﬁ BEHSR 12 8 BBES 11— 2
R OF p— 11 F2iI 12 1 3
£EH 13— 0 _ 2 FRiLE 12 0
X 14 4 BiFE— 13— 3 ‘ 6
0 BIFE= 14 0 15 ¥KBFEm 13 3
ERAEE 15— 3 9 Emoa 14 0 . Q
X 15 2 11 INE 14 3 3
x 16 X 15 0
HIUE=S 16— . X 15 1
EFRE 16 m—
_E 10 m—




REF
FHIRILFBRR Y B

i

ERDIE

21

1(6)

N

o)

10)

—

0(3)

"o

5E
X
FHH
‘&L
SBAE
EF 2
X
s
WRE_-$m
X
HTEES
AiM
EHEME—
X

X

ARREFR

#rH

=EE

S Y

—

—

MERK AR P E KER—E

CELE:

13 ey

R v B B PR

& E AT 3 & Bl PR

BRFRRFR

PRGBS ETER

B E R R

AFHLPER

) B Fr h SLIE IR AR

et R

RA T EHPER

R0 B NP FR

R 31 5 E P A




